LightParts

2507 HOWARD LANE, AUSTIN, TX 78728
WWW.LIGHTPARTS.COM

CitySkape 48 Parts List
Item Description
99012673 Adapter - assembled
99012722 Barn door module
19530106 Base part with hole for display
13051206 Cable grommet M20 Ms
13050740 Cable grommet PG7 brass
11013052 Cover of base
14560143 Covering glass 4x70x220
21030196 Foil of display (polycarbonate)
13050393 Gasket of cable grommet M20, 2/6

19040116-01 Gasket of cover of base A
19040097-01 Gasket of side plate

17050281 Grid - 15A°x45A° with nuts

17050279 Grid - 25A° with nuts

17050280 Grid - 45A° with nuts

17540421 Hinge - frictional (double) black
19020074-01 Holder of lens (newer version)

14060159 Holder with lens QL4XR 4 Rebel
14060168 LED lens CSQL4XR 15A°x45A°
14060157 LED lens CSQL4XR 25A° FHWM - medium
14060158 LED lens CSQL4XR 45A° FHWM - wide
99012723 Lens module 25A°

99012723-03 Lens module 25A°

99012724 Lens module 45A°

99012724-03  Lens module 45A°

99012725 Lens module 45A°x15A°

99012725-03 Lens module 45A°x15A°

17030538 Membrane valve BVP black

99010420 Mounting bracket Omega CL assembled
13030563 PCB Display RB2160

13030452-03 ~ PCB RB1682, 48 RGBCW rebel
13030646 PCB RB2082 CitySkape 48 IC1

13030425 Power supply SA60-48V-RC, 60W


http://www.lightparts.com/

LightParts

2507 HOWARD LANE, AUSTIN, TX 78728
WWW.LIGHTPARTS.COM

13020060 Power supply UHD160-1003(48V)
19530083-01 Profile EX-C L220

17030083 Rubber base

18610151 Screw countersink inside hexagon M6x16 - A4
18510008 Screw crosswise cup headed M3x8

12050502 Screw locking M3x16

18520052 Screw self-tapping 22x65

18520002 Screw self-tapping 29x95

18610192 Screw socket head cap M3x10 (low) - A4
18610194 Screw socket head cap M5x8 (low) - A2
18510107 Screw socket head cap M8x18

19530080 Side plate

12020122 Spacer D7xd35xL4

18050052 Washer M3 (lock)

18550011 Washer M3 star - brass

18550018 Washer M8 brass

18550030 Washer M8 selflock - brass

13170458 Wires set f. CitySkape 48 Power-wires
13170458-02 Wires set f. CitySkape 48 Power-wires
13170463 Wires set f. CitySkape 48 without Power-wires

13170463-01 Wires set f. CitySkape 48 without Power-wires


http://www.lightparts.com/

